Posted by Ken Mankoff on Tue, 23 Apr 2002 19:45:45 GMT

View Forum Message <> Reply to Message

On Tue, 23 Apr 2002, Reimar Bauer wrote:

This is all to complicated

for example

tek_color

text=['Dies',’ ist', ein',’ Test']

xyouts,0.5,0.5,text,color=[0,5,2,3,4]

You need as much blanks as letters for each word.
This could be done by strlen.

VVVVYVYVYVYVYV

Wow, that was easy.

David: It seems this problem is easily solvable no matter how many
times you say "This is a very hard problem" :)

But the "0.5, 0.5" argument to xyoults still needs to be calculated
based upon the current plot, using !x.crange, and !y.crange, and
ly.margin.

Ken Mankoff http://lasp.colorado.edu/snoe/
http://lasp.colorado.edu/mars/
http://lasp.colorado.edu/~mankoff/ http://lasp.colorado.edu/marsrobot/
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